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10- 18 Grading)
All questions were correctly answered and process looked good but there was no P-v diagram.

Suggested grade: 95%

Jean and Gonzalez

HW 2.1: Problem 25 recommendations

It appears that your answers are correct, however the work to get those answers was difficult to
follow from states to state. Your processes and math is right but you still failed to provide the
P-v diagram and summary of properties at each state. This assists the grader, as well as yourself
during the test, to follow your work to solve future problems. Finding the properties and BOTH
diagrams are required by Dr. Ayala for us to solve the problems as we are still learning. |
understand that it can be irritating to do, but it does help teach you the concepts better.

Recommended grade: 80



